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Find the slope of the line that
contains the points
(-1, -7), (2, 5), and(5, 17)

Find the slope of the line that
contains the points
('11 7)1 (31 '1)1 and (zl 1)

iz

| What is the slope of the line
identified by the equation:
3x + 6y = 42?

¢

[What is the rate of change shown in
the table below?

What is the slope of the line
identified by the equation:
6x + 2y = 22?7

S,

What is the rate of change shown in
the table below?
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Find the slope of the line. Find the slope of the line.

Find the slope of the line. [Find the rate of change from the
graph below.
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[What is the slope of the line What is the slope of the line that
x=75? passes through the points
(5,7) and (4, 7)?

2.

What is the slope of the following | What is the slope of the
function? 9x + 3y = 15 represented by the equation
2y = 4x - 3?

/3. J§.

A horizontal line has what slope? [A vertical line has what slope?

/5, [b.
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